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$4.90
$5.35
$5.80
$6.25
$6.70
nereore Logic Puzzles
4 ginger ale
% Presented by Puzzle Baron
5 iced tea
> Puzzle ID: U700XL
o root beer For hints, solutions and more puzzles, go to
www.Printable-Puzzles.com!
water
B.L.T. Prices Names Meals Beverages
Italian sub $4.90
$5.35
cheeseburger
$5.80
club sandwich $6.25
taco salad $6.70

1. The salesperson who ordered the root beer owes 45 cents less than Hannah..

2. Of the team member whose order cost $5.35 and the salesperson who ordered the iced tea, one is Hannah and the
other ordered the cheeseburger..

3. The person who ordered the cheeseburger owes more than Rebecca..
4. Chip didn't order the diet coke..

5. Neither Geoffrey nor Samantha is the person whose order cost $5.80..
6. Chip owes more than the team member who ordered the water..

7. Of the salesperson whose order cost $5.35 and the person who ordered the ginger ale, one ordered the
cheeseburger and the other is Rebecca..

8. The salesperson who ordered the diet coke didn't order the B.L.T...
9. The person whose order cost $5.80 ordered the Italian sub..
10. The salesperson who ordered the water owes more than the salesperson who ordered the club sandwich..

11. Samantha didn't order the water..
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